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SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
201 L2yl 11,000 16,000 25,000
01 At el 10,000 15,000 5,000
SIEIES=11T) 10,000
OYAELE SHETY
50,0002 * 2000} 10,000
03 A2 1,000 1,000 0
OXIHZHETH ZHSA 500,0002! * 23| 1,000
202 o1t 4,500 0 4,500
01 =Loit] 4,500 0 4,500
OXHZHEH 2BA &4 01H|
200,008 * 591 * 23] 2,000
O 2Xe 25 AZHA &4 oY)
100,000 * 501 * 53] 2,500
01 YuBAZ 13,500 13,500 0
CEEEESET 3,500 13,500 0
OXHZHEH EH0iHI
60,0001 * 509! * 23] 6,000
OWEEE T L1 T
15,0002 * 25021 * 23| 7,500
mES-E 115,800 113,500 2,300
=ADFE 43,500 57,900 A14,400
201 Lpr2y| 1,000 1,000 0
038 A2l 1,000 1,000 0
OYE RSYAMBE ZHHA
500,0002 * 23| 1,000
01 YREYI 42,500 56,900 14,400
07 IRroI=elolt] 22,500 22,500 0
Oge ROSH we 1,500,000 * 159! 22,500
08 2I8IE =01yl 20,000 20,000 0
OYE AES ZF0IH|
1,000,0008 * 491 * 52 20,000
=EEONEE 41,000 20,500 20,500
201 L2yl 1,000 500 500
03 A=Y 1,000 500 500
OF= MBS ZHHA 1,000,000 * 13l 1,000
01 YBEHS 40,000 20,000 20,000
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K- B3 S (3IH) - NEAY - Ba 2 Aol Soe HRZ2
07 0QI2to1=22| (4| 20,000 0 20,000
S=2LA0SHAH L2 1,000,000& * 200! 20,000
08 2ABIEZHOMHI 20,000 20,000 0
OS=AEHZ=FHA I
1,000,000& * 401 * 5 20,000
EFnEEE 25,000 25,000 0
301 Let8EAaa 25,000 25,000 0
07 QI2tel=2 04yl 25,000 25,000 0
OO0I= XX EA KOHZHF=R
5,000,000& * 591 25,000
=2AQuUEEHXSA 6,300 10,100 A3,800
201 B2 A 3,600 2,400 1,200
01 AtR22id] 3,600 2,400 1,200
Ozgg g4 ¢ 200,000& = 12& 2,400
OA=0(L 20N - S=201)=49H|
50,000 * 3L *» 83 1,200
202 O] 2,700 2,700 0
01 ZUWdH| 2,700 2,700 0
O=AduEHLREF=X b
20,000& = 321 x 52 x 9& 2,700
A =4 787,445 318,158 469,287
AFBIESHHI X 2 787,445 318,158 469,287
201 B2 IH| 420 0 420
03 A2 420 0 420
ONBIEHH Molgiel &4 48
70,000& = 621 * 13| 420
202 O4Hl 2,700 2,700 0
01 Z2UWdH| 2,700 2,700 0
OMIIHNMXNJLRF=E (b
20,000& = 321 » 52 x 9 2,700
307 QIZtolA 429,325 315,458 113,867
03 AIZIHHEXZ 429,325 315,458 113,867
OAZIEHEXZ 429,325
OJIx=IIEN 340,000,000& = 1A 340,000
OXNMUEL Sx B H HAMRE
35 * 229,987,553,000& / 100,000 80,496
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N33 S2(3H) - MEAMY - BES Aol Ofl At ot HwsZ
O X XI €4 124 = (k) 15 * 587,131 8,807
OXNHUE pHUFASZATL(Q)
36 * 60,2442 / 100 22
401 ASHI L2 350,000 0 350,000
01 A& 342,965 0 342,965
OAHSI SRS 2HAL Al & 2 B
350,000,00020 * 3.3%% 11,865
OA S| EHHISI 2 2 Bl ALY
331,100,0008 * 14 331,100
02 a2l 4,515 0 4,515
OASIEHE =2 Z2ltl
350,000,0002 * 1.20% 4,515
03 Al&=CH| 2,520 0 2,520
OASIEHH 3 2 2 TH Y|
350,000,0002 * 0.72% 2,520
402 DI2EXHEOIF 5,000 0 5,000
N EEES 5,000 0 5,000
OF3 HEPY 5,000,0002 * 14} 5,000
20 NS 83,590 84,390 A800
= 3,500
2 80,090
MOIS X S RHRHA &St 3 X 2 7,000 5,000 2,000
= 3,500
2 3,500
01 YerEaz 7,000 5,000 2,000
= 3,500
2 3,500
02 ZESYLEXZ 7,000 5,000 2,000
OMDIE SR X &&2
1,000,008 * 7¢I 7,000
= 3,500
2 3,500
20ICHH X 2 25, 100 29,500 ~4,400
203 Y= 12,600 14,000 A1,400
CIREEREEEST 12,600 14,000 A1,400
ORXBYSANAZTLR =Yl
12,600,0002 * 14! 12,600
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307 2I2t0IA 12,500 12,500 0
DIZFEHALE = 12,500 12,500 0
OgetalE Wz 12,500,0002 * 13 12,500
HOtS EHAI KT & 33,940 32,190 1,750
1 gergazg 33,940 32,190 1,750
SHALAH B A2 33,940 32,190 1,750
OMOIERSY DKL 127,20094 = 100¢! 12,720
OMOISRSY 23 110,000 * 529! 5,720
OMOIS &M 2SUs HFAX 24
5,0009! = 2,3509! 11,750
OMOI=SR4d3E SZotHARY
5,0008! * 2009l 1,000
ONEEEZAUZ ESXE A
250,0008 * 11HS e 2,750
RN LN 17,550 15,700 1,850
307 2I2t0IA 17,550 15,700 1,850
02 QIZHHAEZ 3,000 3,000 0
OZ=0lSAH SEITA 3,000,000 = 14 3,000
BIZBALE & 14,550 12,700 1,850
OB. 258 =X Y 4,000,0008 * 14! 4,000
OLWMIAFAICI WS At
2,200,0008 * 14 2,200
Ox=.8.1 sAJIUs Al&=
1,300,0002 * 13 1,300
Ox.8.1 =22JIUHsl &A=z
500,000 * 14! 500
OWHLIZ=0l=S A 23|
5,500,000 * 14! 5,500
OMH == &K
7,000& = 309! = 1,050
S AME 2 98,517 78,071 20,446
= 17,285
[ 9,000
2 72,232
ZoW3 2Hag 5,100 5,000 100
= 1,000
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301 YprEAZ 100 0 100
10 BAFAHI2AZ 100 0 100

ORECS®W3 AKX DA
20,0008 * 59! 100
307 QI2t0IA 5,000 5,000 0
= 1,000
z 4,000
02 BIHAMEE 5,000 5,000 0
OZcwIaS YL 5,000,008 * 17H4 5,000
< 1,000
2 4,000
UMY X8 27,370 22,219 5,151
= 1,685
= 8.000
2 17,685
307 QI2tolA 27,370 22,219 5,151
= 1,685
= 8,000
z 7,685
02 PIHAAEE 27,370 22,219 5,151
ONSA 843 N 3,000,0008 * 53| 15,000
< 4,500
2 10,500
ORI ZAME 2 5,000,0009 % 1742 5,000
= 1,500
2 3,500
ORI ZAR Aol s 3,370,0008 * 14| 3,370
=2 1,685
2 1,685
OXsY,Jlse NHASAEH X8
4,000,0008 * 14| 4,000
< 2,000
2 2,000
RS AFRCIWI012 L0B T = 31,200 17,305 13,895
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101 Q121 31,200 17,305 13,895
=2 15,600
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10 JRAM2ENSE 4 31,200 17,305 13,895
ORFZSA DS AL 22|
1,300,000 * 20! » 128 31,200
=2 15,600
= 15,600
ASANESHH 34,847 33,547 1,300
201 Y2yl 17,002 15,702 1,300
01 Ar2zelt] 8,610 7,310 1,300
OlgeragHI] 8,310
OXEEN B2E M 52,5008 * 40E 2,100
ORBEA =25 L 422 Y
50,0002 * 100% 5,000
OXBZAN JZRE 2102 * 1,00004 210
OXNESANELE JIEE 2
2,002 * 5004 1,000
Ol22Hl] 300
OXREZANE 2% S|
5,0008 * 491 * 152 300
02 BZESYH 8,392 8,392 0
olzzegHl] 1,242
o[3322% MAl 1,242
ORFSAME Mo
51,0008 * 128 612
OREBAME BE 2uE
2002 * 3, 15004 630
OIN&ZHIRXIHI] 7,150
o0lsSEE2MY 228E Y|
10,0008 * 105 * 43| 4,000
oolsS=SMY R
262,5008 * 104 * 122 3,150
202 01| 1,920 1,920 0
01 =LHoIt| 1,920 1,920 0
ORESAME 22 0|
20,0008 * 20! * 482 1,920
301 YstEAZ 6,825 6,825 0
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10 AIAHIZ& = 6,825 6,825 0
OXNESAt Ds2ZAE
210,000 * 221 = 43| 1,680
OXEASAUH2 AT Ald|
5,000&  3159! 1,575
OXNESARA A AlH| 24 5,000& 840l 420
OXtE 2 A MIOILE &4
5,000& = 10521 = 43| 2,100
O0d THJASAUS AHIE4
5,000& * 210¢! 1,050
307 QI2t0IA 9,100 9,100 0
02 tHAEX 7,000 7,000 0
OAtgel 2 xg | 7,000,000& = 12l 7,000
04 QIAIBALEE 2,100 2,100 0
OO THR S AR & A 2
2,100,000 * 14 2,100
MNASES dala2 10,347,612 10,879,336 A531,724
= 8,210,562
= 1,032,650
= 1,104,400
& X3 1,505,138 1,449,583 55,555
= 1,178,430
& 163,634
s 173,074
NAXEdH2Y 170,406 166,433 3,973
= 119,284
= 17,041
= 34,081
307 QI2t0IA 170,406 166,433 3,973
= 119,284
& 17,041
= 34,081
02 glztFaEx 170,406 166,433 3,973
OXtg sl 22|
170,406,000& * 104 170,406
= 119,284
< 17,041
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i 34,081

22 ALY 1,028,250 1,013,280 14,970
= 822,600
= 102,825
= 102,825

101 Q12| 397,150 382,180 14,970
2 317,720
= 39,715
2 39,715

10 JIZtHZ2Z2NSES 397,150 382,180 14,970
Olgzze=y 4,801,875% = 802! 384,150
= 307,320
= 38,415
i 38,415
OX&EZ2=z MIEEZ 162,500& = 809! 13,000
= 10,400
= 1,300
i 1,300

206 M=l 1,100 1,100 0
= 880
= 110
= 110

01 MZHI 1,100 1,100 0
oxgzz Xt M=l 100,000& * 1104 1,100
= 880
= 110
i 110

307 glztold 630,000 630,000 0
= 504,000
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05 QIZtREZ 630,000 630,000 0

OXNEZZAY <&
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= 4,160
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O2JI% 43X & =22

1,890,909.0021 » 220! 41,600
2 33,280
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2 4,160

REHEBAX SELLYX 4,200 0 4,200
= 4,200

307 21201 H 4,200 0 4,200
= 4,200

02 LAANBE 4,200 0 4,200

ORISR AR SE+Y

70,0008 * 591 * 122 4,200
= 4,200

AR © 0] AbYY 254,082 200,000 54,082
2 203,266
= 25,408
= 25,408

307 2120l 254,082 200,000 54,082
2 203,266
= 25,408
= 25,408

05 BIRASIES 254,082 200,000 54,082

ONARIEEZL0IXE AL

11,549,181.81& * 22¢! 254,082
= 203,266
= 25,408
s 25,408
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REALY 235 6,600 5,400 1,200
201 Ygreg| 90 960 0
01 A=zt 960 960 0
olazbl] 960
OXtEALY EX S|
5,002 * 491 482 960
202 01l 1,440 1,440 0
01 =Loit] 1,440 1,440 0
OXE A ETY &L XHE T3 & 01 01l
20,0002 * 391 * 242 1,440
01 YuBAZ 2,000 2,000 0
ETECE) 2,000 2,000 0
OXEHOIN MBS UHHDS
20,0002 * 100¢! 2,000
307 I2tolH 2,200 1,000 1,200
04 DIZISHAIEE 2,200 1,000 1,200
OXEE0HY BAKIR 1,200,000 * 1A 1,200
OgEEr 9Fa 1,000,000 * 14 1,000
HASMEX 8,842,474 9,429,753 AB87,279
= 7,082,132
= 879,016
2 931,326
420 6,721,142 6,772,360 ~51,218
= 5,376,914
= 672,114
2 672, 114
301 YstPAS 6,721,142 6,772,360 ~51,218
= 5,376,914
= 672, 114
2 672, 114
01 MEEZEAH2 6,721, 142 6,772,360 A51,218
O2JZ +2X 4HS0
150,510.042 * 3,35201 * 128 6,416,132
2 5,132,906
= 641,613
2 641,613
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OuluUX 2x= 10,167& = 2,500Q!  12& 305,010
= 244,008
< 30,501
o 30,501
ANaAAE 2= XS 5,751 17,550 211,799
= 4,601
& 575
i 575
301 YBtEA= 5,751 17,550 A11,799
= 4,601
& 575
= 575
01 ASIEEH= 5,751 17,550 A 11,799
OXt&a? HS A&
1,775& * 27021 = 12& 5,751
= 4,601
= 575
o 575
ol &k RS ¢ 75,520 66,830 8,690
= 60,416
= 7,552
i 7,552
301 YBtEa= 75,520 66,830 8,690
= 60,416
= 7,552
= 7,552
01 MBS 75,520 66,830 8,690
Ol & & H= ¢ 39,333.33& * 16021 « 12& 75,520
= 60,416
& 7,552
= 7,552
F=H20 1,204,603 1,474,893 2270,290
= 963,682
L= 120,460
= 120,461
301 Lptsazg 1,204,603 1,474,893 A 270,290
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301 = 963,682
= 120,460
iy 120,461
01 ,204,603 1,474,893 AN270,290
O=2JIx =32X =HSO
29,947 .36& * 3,35202! « 12& ,204,603
= 963,682
= 120,460
= 120,461
mE== 167,350 313,270 A 145,920
= 133,880
= 16,735
o 16,735
301 LE2AS 167,350 313,270 A 145,920
= 133,880
= 16,735
o 16,735
01 167,350 313,270 A 145,920
o= 30
167,350& = 25001 x 4& 167,350
= 133,880
o= 16,735
= 16,735
212Xl 99,540 133,998 N34,458
= 79,632
== 9,954
iy 9,954
301 dEE8Aa= 99,540 133,998 N 34,458
= 79,632
== 9,954
iy 9,954
01 99,540 133,998 N34,458
O 138,250 = 60Q1 = 12& 99,540
=2 79,632
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FHEE=0H(E =) 516,258 A 115,839
= 413,007
= 51,626
= 51,625
307 glzZtold 516,258 A 115,839
= 413,007
= 51,626
= 51,625
05 GIZtREZ 516,258 A115,839
O=Jlx= ==X 822
12,834.57& * 3,352Q1 » 12& 516,258
= 413,007
= 51,626
[ia 51,625
SEEMHRXE 52,310 33,915
201 LEr2dl 14,110 6,215
01 AR 2&cldl 4,860 300
Olge+gH] 3,180
OFDIMETANGA 26 (2,59)
20,0003 * 12904 + 128 2,880
O=XNEIt Xtz M2 10,000& * 30& 300
Ol2g+y] 1,680
OMBBEIAAS B0 BA 2g
70,0003 * 621 » 43| 1,680
02 22944 9,250 5,915
o=323 HIAl] 7,000
O=30J|x= ==X A REZ (g8
2503 * 5,2000! 1,300
O=22Ix= =2 A RBEZ (SI1)
1,750& * 400¢! 700
OJIZLEHIY NARAAHE AL £H
Z(geh) 2502 = 20,0000! 5,000
O[xtegFe el 2,250
OSEXZAM Xt RFN 150,000& = 12& 1,800
OSEXZAMXE S 150,000& = 32 450
202 OdHl 200 200
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01 =LHoTH 200 0 200
OJZMELESO0F NZDXEY SZOIY)
20,0002 * 50! * 23] 200
402 PI2EXHE0IH 37,500 0 37,500
01 UATEEE 37,500 0 37,500
ONASS F+2NRAMY
1,500,0008 * 257+7 37,500
405 Xher3 St 500 10,500 £10,000
01 MMUSBFHSY] 500 10,500 £10,000
OSAMZA LRETE ANH 7Y
500,0002 * 1CH 500
ZOMBTANLIA HAY 8 2= 2,076,912 2,041,950 34,962
2 1,368,343
= 45,728
= 282,827
2 380,014
Zojol =X K22 1,624,695 1,702,809 ~78,114
2 1,034,474
= 45,728
= 241,03
2 303,400
2 0h4g 1,031,041 948,814 82,227
2 721,729
= 154,656
2 154,656
01 YBEHS 1,031,041 943,814 82,227
2 721,729
= 154,656
2 154,656
01 ASEIH2HZ 1,031,041 948,814 82,227
OFM+g 73,430.3% * 1,1182! * 128 985, 141
2 689,599
< 147,771
2 147,771
OFMOI ST Y4
53,0009 * 2501 + 122 45,900
2 32,130
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= 36,120
L= 6,389
i 6,390
301 getEazg 45,149 101,547 A56,398
= 36,120
= 4,514
= 4,515
01 AMSE2EHE=EZ3 45,149 101,547 A 56,398
O&ofel o 24| 181,763& = 207¢! 37,625
= 30, 100
& 3,762
= 3,763
O&FOel 2&7 Al 36,347& * 207¢! 7,524
2 6,020
< 752
= 752
405 XHAHFE SHI 3,750 0 3,750
& 1,875
= 1,875
01 Xt =SFHSHI 3,750 0 3,750
OZMAMSARE HHO BHEI2 XD
=N 750,000 * 5JH & 3,750
< 1,875
i 1,875
ZOHCl A& S K& 254,932 340,530 285,598
= 178,452
& 38,240
= 38,240
307 giz2told 254,932 337,680 AB2,748
= 178,452
= 38,240
= 38,240
05 QIZtREZ 254,932 337,680 AB2,748
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101 @IAH| = 5,600
& 2,800
= 2,800
10 JIZtHZ22NSEx 11,200 7,000 4,200
OZOHel =X Xl X3 lAy|
200,00080 * 82 * 7 11,200
= 5,600
< 2,800
i 2,800
201 Lt 912 675 237
=2 456
< 228
2 228
01 At 2teld] 912 675 237
O&Oel LXtel X LoHbl
114,000& « 8¢l 912
= 456
= 228
i 228
ZOHQAI A HTHE ALK& 72,000 67,826 4,174
= 45,728
& 6,480
i 19,792
307 QIZt0IA 72,000 67,826 4,174
= 45,728
L= 6,480
2 19,792
02 fltFaEx 72,000 67,826 4,174
O 2 e Ald K&
72,000,000& * 1JH= 72,000
& 45,728
= 6,480
i 19,792
HOHI==RIHHESROI XA 33,345 20,520 12,825
= 16,672
& 8,337
i 8,336
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101 @IAH| 33,345 20,520 12,825
= 16,672
& 8,337
= 8,336
10 JIZAH22ASES 33,345 20,520 12,825
O&ofel =eldgy =<0 XI&
855,000& =+ 321 = 133 33,345
= 16,672
& 8,337
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ZOHIHEERD |7 W 2,600 4,331 A1,731
= 2,080
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ORN2YB N 4,410,000 * 14 4,410
ol2g+g] 19,040
oYU g 40,0009 * 111 4,440
oO=HLg 40,0002 * 3652 14,600
Ol2zl] 2,625
ORNSYZAUNY 218,750 * 122 2,625
202 Ofl 6,300 6,000 300
01 =UofH 6,300 6,000 300
ORASY S U & 525,008 * 122 6,300
HPES (048X 2 D}) 518,399 518,399 0
TESEbE 518,399 518,399 0
ABZ0I2SY SEINTES (L) 518,399 518,399 0
701 JIEtEHEE2 518,399 518,399 0
01 JIEENEES 518,399 518,399 0
SEEEPIEEE R
518,399,008 * 14 518,399




